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ENGAA S2 2020 - Question 8

ENGAA S2 2020 - Question 8 - Worked Solution

𝐴𝑉𝑃 = ρ𝑔     𝐴𝑠 𝐹 = ρ𝑉𝑔 𝑖𝑠 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡,  𝑤𝑒 𝑎𝑛𝑡 𝑡𝑜 𝑚𝑎𝑥𝑖𝑚𝑖𝑠𝑒 𝐴 𝑖𝑛 𝑜𝑟𝑑𝑒𝑟 𝑡𝑜 𝑚𝑖𝑛𝑖𝑚𝑖𝑠𝑒 𝑃𝐴𝐹𝑃 =
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3
Answer is F

4    = ρ𝑔    = ρ𝑔ℎ
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ENGAA S2 2019 - Question 7

ENGAA S2 2019 - Question 7 - Worked Solution

3

Answer is E

                     = 1080 𝑘𝑃𝑎 = 100𝑘𝑃𝑎 + 980𝑘𝑃𝑎𝑝𝑦𝑟𝑎𝑚𝑖𝑑𝑃∴                    = 980, 000 𝑃𝑎 −3×140𝑚×2100𝑘𝑔𝑚1×−1                   = 10𝑁𝑘𝑔 𝐴ℎ31𝑔ℎρ  𝑢𝑠𝑖𝑛𝑔 𝑉 =31=𝐴𝑉×ρ= 𝑔×𝑠𝑒 𝑎𝑟𝑒𝑎𝑏𝑎𝑤𝑒𝑖𝑔ℎ𝑡=𝑝𝑦𝑟𝑎𝑚𝑖𝑑𝑃 𝑝𝑦𝑟𝑎𝑚𝑖𝑑+ 𝑃𝑎𝑡𝑚= 𝑃𝑔𝑟𝑜𝑢𝑛𝑑𝑃
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ENGAA S2 2019 - Question 8

𝑥

ENGAA S2 2019 - Question 8 - Worked Solution

ρ𝑔+𝑃 3
Answer is C

𝑅1( )ℎρ𝑔+𝑃='∴ 𝑅
3( )'= 𝑥ρ𝑔 + 𝑃( ) .  4π 𝑅3ℎρ𝑔 + 𝑃( ). 4π𝑅𝑃. 𝑉 𝑖𝑠 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡
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ENGAA S2 2018 - Question 15

ENGAA S2 2018 - Question 15 - Worked Solution

10
𝐴𝑚𝑔

Density;

−2    = 2000 𝑁𝑚2𝐿3.2    = 𝐴    = 𝐹𝑃 =     = 0. 32 𝑘𝑔 −4×1.6×1042.0×10𝑚 = 𝑘𝑥 = 𝑚𝑔Mass of cube:

= 4 𝑐𝑚𝐿 = 162𝐿 = 962𝑆𝐴 = 6𝐿
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𝑚

Answer is G.

   = 5000 𝑘𝑔3.04𝑚( )00.32 𝑘𝑔   = 𝑣ρ =
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